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20128td T FIOIEE X304 SZHE(SES)
S0 0 Xt Of & TN CrREL
PN 9 X =
& g FZ0 A S 0] A K 5 2 bl 8 = g FZ0 A 0] A K 5 & bl 8
S=E3+8(5100) 20,801,859 20,147,260 654,599 3.2|| 24=(4100) 11,044,020 10,857,232 186,788 1.7
MY UI 24 (5200) 4,730,287 1,580,003 3,150,284| 199.4| 222 HI(4200) 4,269,510 4,256,470 13,040 0.3
w202 (5300) 583,763 454,001 129,762 28.6( S St Z HI(4300) 9,617,460 6,257,252 ,360,208 53.7
S22 U= (5400) 300,540 303,001 ~2,461  ~0.8| = 2HIE(4400) 30,000 30,000 0 0.0
A 26,416,449 22,484,265 3,932,184 17.5] &= 2(4500) 500,000 300,000 200,000 66.7
DA XHAH(1300) 0 0 0 0.0 GBI 81 (4600) 5,000 10,000 25,0000 A50.0
A 0 0 0 0.0 H 25,465,990 21,710,954 , 755,036 17.3
OIAFZ & D01 & X2 4,335,748 2,595,856 1,739,892 67.0| L& XH&H(1300) 3,028,031 2,858,282 169,749 5.9
Al 3,028,031 2,858,282 169,749 5.9
INPIIUE=PNE= 2,258,176 510,885 ,747,291|  342.0
=Ry 30,752,197 25,080, 121 5,672,076  22.6 INE=INEE- 30,752,197 25,080, 121 ,672,076 22.6
F) 1. +AXES 2 H HHle N24UXE SHO HEH H2HI2 AS(ASFO0IGH HMA2I DX H A
2. RS2 L2 e CHIXLI0 SEH(AII0E L X0 N2 RSS2 S2AME SIS HMA)




AN - A& FIEE 0l &tA

<%=g> (&1 @ &)
o = o1 [ 2 x| (A
= o = aa | & -8 & & 2 (29 : )
5100 sE3+Y 20,801,859 | 20,147,260 654,599
5110 sE3=+¢ 20,671,859| 19,892,865 778,994
5111 2 &= 1,229,695 1,113,711 115,984
JI=l 1t <MY Mst=>
-1,866% *659,000& 1,229,694,000
<PIEMAEZ> U=EX 1,000
5112 =& & 19,442,164 | 18,779,154 663,010
JI= 1t <{gtd=a2> 9,314,865,890
<28 H=HZ> 8,594,161,850
<BstE+=H=Z> 1,352,337,000
<HIAEBE =HE> 180,800,000
FOtw =1t 40¥+4,520,000&
5120 =& ==+Y 130,000 254,395 A 124,395
5121 &2 = 130,000 254,395 A 124,395
5200 MY IR+ 4,730,287 1,580,003 3,150,284
5210 83+ 20,001 20,001 0
be12 HERY dY3 20,000 20,000 0
JI= 1t <HEHL 3>
-HAZEHERENAUS 10,000,000
OSEEHERENYUS 10,000,000
5219 D133l A& 3 1 1 0




AN - A& FIEE 0l &tA

<> (B9 : &R)
I} = 2012 g = | 5
= o - s (%3% -8 A& 2 A (29 : 9)
1= QIZAHMLS> USEX 1,000
5220 J|R 342 0 1 A
5222 NI&JI123 0 1 A
5230 2DNEx249 4,710,286| 1,560,001| 3,150,285
5231 WEWSI|I=8 3. 4,635,421 1,500,000 3,135,421
JI &1t <USWEI=2XNA3S>
-=2JtEsg A 4,449,673,934
-z F 56,193,000
S22 83 125,109,000
S ER0| &S 2 2,446,000
-2 AME SAMES NS 2,000,000
5232 JIEt = 0X&A 73,714 60,000 13,714
J1= 0t JIEf=20X& XNE2>
-BEENE SE3E2XA3 68,714,080
-SWSOotel M sII2&#X 2 NEXZ 5,000,000
5233 Xl XX Al K& 1,151 0 1,151
J1= 0t <K XX S X&2>
-2d3? HASE ¥E2 1,151,000
5239 JIEtE2 &3 0 1 VAN
5300 W==20H=+g 583,763 454,001 129,762
5310 YAz 560,710 437,000 123,710
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Mg - HE FIIEE 0l&tA
<%=2> HE)
= N I
o/} =2 Ofl &k 4 (A) (B) (A - B)
== 560,710 437,000 123,710
560,710,000
23,053 17,001 6,052
ZE= 13,800 15,000 A 1,200
13,800,002
HHEHAMEZ 9,253 2,001 7,252
B =ADIAE2> 9,253,000
5400 w=el+=¢ 300,540 303,001 A2,461
294,100 300,000 25,900
Gl 20l At 294,100 300,000 25,900
SIER! 280,000,000
HMDS 14,100,000
T2+ 6,440 3,001 3,439
g 6,440 3,001 3,439
3,770,000
1,120,000
-WUE &Y 1,000,000
50,526
500,000
1300 & KHAHOH 0 0 0




He - AE FIIEE Ol &tA
<=2> 9l )
ﬂ* 8 012 18 = | 5A)
2 & = aasn | MG ™ (A - 8) ¢ & = A (99

1310 =& D E KHAHOH 2 == 0 0 0

1315 &J| BIS OH=CH 0 0 0

OIAL2 &0l X3 4,335,748| 2,595,856 1,739,892

42 E 30,752,197 25,080, 121 5,672,076




AN - A& FIEE 0l &tA

<X &> (et9 : &)

nis 2 2012 = = =(A)2
n ZOPEB | oo ook | T & 8 2 (29 Q)
n} &t =2 Oil A+OH (A) (B) (A - B)

4100 B2 11,044,020| 10,857,232 186,788
4110 nJ¥d2 8,180,351 8,166,251 14,100
4111 D204 4,477,870| 4,393,870 84,000

bl <SE2MDASH> 1,627,130,400 1,639,698, 200

<OIZ2RHDAS0> 1,560,171, 100 1,560,171,100

<HAMAZO> 60U *82 825,000 396,000,000

<HIHEHEAFMADAZ0/> 750,000,000 750,000,000

OIEFREZ 0> 132,000,000

~II2 D% 12%1,000,000% 122 12,000,000

~X8 D4 2%+3,000,000+8 48,000,000

~X 8 D4 22%3,000,000% 122 72,000,000
4113 M= 1,457,158 1,460,458 23,300

ni=hn'l <z 2> 153,600,000 153,600,000

p/E <HI2AYIAE> 39,480,000 39,480,000

<HILE> 135,594,200 135,594,200

<@I4o> 351,000,000 351,000,000

<BHAFKISZHI> 1,800,000+ 128 21,600,000

<22H/> 3,900,000%122 46,800,000

<RIBMACH 84,000,000 84,000,000

<IPBXHI> 134,280,000 134,280,000

<UEESIIH> 162,713,040 162,713,040




AN - A& FIEE 0l &tA

<n& (B9 : &R)
=2 =3 = = 2
- = ” — S &’fé%{f, of & s(a)® & & 2 (29 9)
2 = = (A - B)
JIED =4S 44,400,000 44,400,000
<HZ|PRHE>
S8 2 HAEC 2,031,570x12& 24,378,840
<AZEXTHI> ES&  750,000+12& 9,000,000
<EHHIBX£E> wIAXH SHIBEXxY 50,000,000
<D AL DAAS> 4,723,295,380*4% 188,931,810
OFE=GIHeE2> 180,000
DIEt=E> &8, &5=20 GE ssed= 10,000,000
4114 WRAHERES 351,518 349,118 2,400
JEY <pEIsg3>
24,000,000%50/85* 12 169,411,760

,000&*2.5/55+12& 13,090,900

,500,000& x50/85+ 12 24,705,800

,500,000& *2.5/55+12& 1,909,000

,000,000&+0.6%12& 86,400,000

1,500,000& #0.6+12& 10,800,000
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<n& (B9 : &R)
m = 25g | g oo | oA 4 & 2 (2 8)
o &t =2 O &k 24 (A) (B) (A - B)

£23 OlgnAYmeLD> 45,200,000

4115 A2 Z 1,059,200 1,059,200 0
D2 <AL 1,059,200,000

4116 Sg2oZ 73,200 142,200 269,000

mEn!; Qletze >

HEXE BAR © 100AI4=%163+3,0002 4,800,000
JEW W2 YEN 200,008 <3S H 600,000

- ZAFE 200,000 *33! 600,000
SR T2 FHPEH 32 £+200,000 600,000
22 2 24 22 HI (38%200,000& ) 600,000
SEIE2N AL SA
32 £+%200,000& = 600,000 600,000
BREASIZH YA 200,000 +32 5 600,000
HIMHEN T2 A 32 %+200,000 600,000
QHWUEEIX 25 A M 32 %+200,000 600,000
WEDIXE - M2 HAHH 29/E 32 2H+200,000 600,000
FEUML M2 HYSY ¢ 320 E+200,000 600,000
DICIESMZZ 25 &3 221 (600,000)
-MEZFHHEAH 32 E+200,000 600,000
AZTIXIE R 2 H o &3 32 %H+200,000 600,000




Mg - A=

FIHEE Hl&tA

<n& Bl M)
=2 =3 = = 2+
= 2 - - = &’fé%{f, o & slar & B 2 (e
= = B (A - B)
FLUUXNCZHAEZ 120 FH+200,0002 200,000
4118 =W Q24| 761,405 761,405 0
J1= 0t <ZuW=0> X1 35Y 61,010,000+12& 732,120,000
<A WA AAHS> 732,120,000%4% 29,284,800
4120 HRAE+ 2,863,669 2,690,981 172,688
4121 A3AZ0 1,442,446 1,443,083 AB637
J1= 0t <YBRRAZ 0> 1,112,086,200 1,118,525,500
<ASHAEA =0> 287,557,500 287,557,500
<IE HAS0H> 15,000,000
4123 A M= 920,193 921,368 A1,175
J1& <HEZ=GYIrer2> 3,210,000%12& 38,520,000
KA 2> 92,955,930 92,955,930
<ALR=E> 21,337,500%12& 256,050,000
<StALXI & HI> 1,980,000« 12& 23,760,000
<S> 4,290,000%12& 51,480,000
<E MG 2,300,000«12& 27,600,000
AR EXHI> 72,720,000 72,720,000
<HEZOtdl> 94,259,800%60%*23] 113,117,760
OFES=Y> 2,040,000+ 12& 24,480,000
<AZETH> 4,960,000+ 12& 59,520,000
<K IANESHE XS 50,000,000




AN - A& FIEE 0l &tA

<X &> (&9 : &)
2 =3 = = 2+
- 2 ” — S &’fé%{f, of & s(a)® & & 2 (29 9)
= = B (A -B)
J1= 0t <EdsE> Z 2l 2E 50,000+ 12 1,200,000
SR <AIZE2EY> 4,850,000 4,850,000
J1& <HIAHWANHZ> 2,184,964 ,410%4% 87,398,570
<OFEF=YIHata> 120,000+ 12& 1,440,000
ODlEt+=E> S, 530 HE ssUa=E 10,000,000
4124 RAHHLLD 204,380| 209,880 A5,500
J1& <HAASREE 3> 136,800,000
<HATMN2 RS Z>
11,000,000& *2.5/55+12& 6,000,000
<HRAZEBHRYZ>
5,500,000 0.6+ 12& 39,600,000
A2 400,000 «0.6%123 2,880,000
EEy QDB HAHERE 2> 17,300,000
4126 =2l 1,650 1,650 0
FE22) <c2>  5Hx102*33,0002=1,650,000 1,650,000
4127 RRAL R 295,000| 115,000 180,000
" <HEEED>
“HSERA EAF 15,000,000
-S|LEH XA EAF 280,000,000
4200 B2l 4,269,510 4,256,470 13,040
4210 AlZ 22l 2,206,268| 2,206,268 0
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AN - A& FIEE 0l &tA

<n& (B9 : &R)
=2 ct = = 2t
= 2 - - = &’fé%{f, 5:4'(%*)53 slar & s 2 A (29 R)
o = - (A - B)
4211 A== 22l 919,001 919,001 0
2el 1t <YBASSB=H[> 480,000,000
- HdE2 |RAE=H| 80,000,000
- 39Y F5 L Wty B 400,000,000
<HMIIAIE s Rl2teldl> 280,000,000
- 8IIAME X2l 30,000,000
- 839Y ZEEH WA 70,000,000
- 394Y SEEH WA 180,000,000
<IIAAIE sX2eldl> 30,000,000
<EZAE KX22B> U=SEX 1,000
<AEAIE |X2eld> 20,000,000
<gZ AL R X 2eldl> 28,000,000
- 293 FAHl ¢ 3,000,000& *23] 6,000,000
- 3t EAHl ¢ 5,500,000 5,500,000
- 9= 9002/ g ZAL 16,500,000
<SHAIE R X 2eld>
- MuE)| JtE B+ 6,000,000
<JIEt A== 2clb> 75,000,000
-AEAES Y HPA orM el 5,000,000
-Z0Hel HOAL &Xl S 70,000,000
4212 Fdl2teldl 401,767 401,767 0
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2012
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Ofl A+ 24 (A)
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& & 2 A (289 : J)

1]
[l
[

Ot
10
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0lo
12
B

S
0
[

g X | 5(0)
o & o
(B) (A - B)
22|t
PSRN

<8I &Hl |XE=HI> 20,800,000

“HIIFAN2E) € HAI 2L 2,000,000
-HYI LA R PBS s 242 8,000,000
-g2 MI|etM2tel CHe8:900,000& 123 10,800,000
<&H &Hl |XE=HI> 15,700,000

=SSN E4:275,000& 12 3,300,000
-H22AS LIS XI(304):900,000& x 128 10,800,000
-S| B 1 400,000 *4CH 1,600,000
<S4 EH RXE=HI> 14,400,000

-Matddl S X 2Hl : 350,000&*12& 4,200,000
-S| KX E24:200,0002 « 122 2,400,000
-wEJ| |XE=s 1 650,000 128 7,800,000
E<®E MTH SXE2H> 111,860,000 111,860,000
<HIE=ZFHl |RAL=H> 36,072,000
<AEH RXEHI> 7,200,000 7,200,000
<USEHHISXEFH1>

-ANE2AR X2+l © 3,120,000 =123 37,440,000
-OoteE ¥ X2 8,820,000
<AHREEH| |XE=H> 10,200,000

-t Zetd X2 ==4l : 300,000& 123 3,600,000
-NHSEZLSII7 X E4Hl 550,000%12& 6,600,000
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g = | B2
%
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0
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>

1]

Eg=inl;
SAXAHE
w2
SR
22l
2tel 1t
SR
Eg=inl;

-SAIS X2 ==H|

-=S AP ==el

: 200,000 +12&

-HISSHEEY T2 O8d

-HIZHt2 S ZHI(20H):250,000&4 <128

<JIEtEHl RXE+
Sl

UPS grdlel mAIHI(200H)

<gH|&dl==2ldl>
-d23SJI2 WA,

<™ &HFHl2=2lhl>

0

29,000,000
02 =cl, &

6,000,000

<UWEHZ HHli==2ldl>

<WFEHHIsClHl>

toIAlg HE DI

19,075,000

tne £F Wi Jlet S

=2/l

-AEE, USE Fdl #clbl

Qal
=

=

2,400,000

300,000
1,000,000
3,000,000

20,000,000

4,500,000
29,000,000

6,000,000
1,000,000

17,175,000
1,900,000
25,000,000
1,000,000
7,000,000

10,000,000
10,000,000
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AN - A& FIEE 0l &tA

<X &> A EH)
2 =3 = = 2+
= 2 - - = &’fé%{f, 5:4'(%*)%‘ slar & B 2 (e
o = - (A - B)
4213 =H 22l 123,600 123,600
i} <EZ@eld>
-ZZSX A2 300,0008 128 3,600,000
<EHBAHI>
-ZF 3,4, 118 2U2 AT < 20,000,000
-OIAZE Y #A S B4 100,000,000
4215 Al 2| 604,800 604,800
E2 <AlE 2>
-ZHl,01389 © 50,000,000%128 600, 000,000
=l —IARZH OB A 400,0008 * 128 4,800,000
4216 282 20,400 20,400
i} <GHEEEZ> Y22 2H2 (2 1,500,000
<HHEE=>
-DSAEWL SHE(2R.E2) 5,000,000
~DUHEAIDFA AR DHH A 2 2 100,000
&h a4 QleteE >
- SN NHANM LB (2E 1) 12,300,000
A THEIM WA oF 4,100
==Ln} -JIERE R 1,500,000
4217 el A 2 Xt 136,700 136,700
HB22IL <2lAH> 1271 E*990,0008 11,880,000
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AN - A& FIEE 0l &tA

<X &> (&t @ ®R)
2 =3 = = 2+
= 2 - - = &’fé%{f, 5:4'(%*)%‘ slar & s 2 A (29 R)
2 = - (A -B)
el <QURHI> 65,000,000
AN DRMAER BHAS 30,000,000
-~ SAYHE HAS 30,000,000
- YRUR CRHEE 5,000,000
MUK AMEO|E 2lAYRE> 55,200,000 55,200,000
OICIOI20IZ=ADILARE 4,620,000 4,620,000
4220 Lerzel | 1,046,050 1,032,820 13,230
4221 OiHI L SHI 52,500 52,500 0
£23 <ZUEZHI> 5,000,000
I8 <BAEFH> [ AT 20,000,000
£23 -2 EF | 20,000,000
CIKIQIHE -S.V.A SHRICIXIQIo 4 Ol =X 6,000,000
-SHelCIXtelei e &2 300,000
=L N AUWZZDEH> 2100,0008 %122 1,200,000
4222 MR Xl 11,400 11,400 0
=L n <RHY KR FHI> 2400,0008 *128 4,800,000
el <Kgelb> 428 [ 20 3,000,000
=L n QIEH TR 3,600,000
4223 22 EH 279,935 277,805 2,130
22l <EIIM AR AREH> 25,000,000
<KW A2 ADEH> 25,000,000
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Mg - A=

FIHEE Hl&tA

<Xl&> (&1 @ &)
o = =oiam |G g o | oA & B 2 (29 8)
2 8 S Ol &4 (A) (8) (A - B)
2te| ot <HUI N AZ2FH)> 15,000,000
S22 <L ESHI>
-HERN L FU/EB HRE 237 8,000,000
nsa <EAEZHI>
S A2 X (A4) 108 A 26,000 260,000
JI& -2AEX, EYH 500,000
mEsns SAINEYH, EMNEX S 4,464,000
St A 1t -SAIEH, SAEX 1,600,000
EEny <EAMNBEU> 1,280,000
F=222n =2M8X, EY 699,000
HAgsad =sA2X, EY 675,000
FOICIHYE=ZAIZX, €Y 934,500
JATNHLESAER, EH 680,000
FOln=Y 2A2K, €Y 724,000
230t 2A2X, EY 610,000
AZHAN =2AEX 390,000
S0t -MEX, EYH 550,000
2+ ot SAMX, EU 712,000
2N =2MEX, EY 860,000
HESXYN SAEX, EY 596,000
FFREASIMEANER, EH 200,000
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Mg - A=

FIHEE Hl&tA

<K& F o A)
o = 25ign |G o | 543 & & 2 (B9 4
o 8t = Ol & 24 (A) (B) (A - B)
HIMSED AT, EU 972,000
CHAEEIE, SAEX| 290,000
SELAMA AR, EY 688,000
DICIMR20ZY 28 = AR XI(151,000) 151,000
CIRRIHE —= AR, &Y 1,886,200
DR <HAZEH)> 1,100,000
JlED -melf Y MA EY, TRl 93 S 1,027,200
R -HUHEH ¥ MABEH| 9,240,000
S 1 <KZRAHEY> 3,555,000
=20 ~DRIEEY, 23 ¢ 5,140,000
HPDEID TG EU, A S 2,230,000
HelEza 93, g4 1,030,000
SOICI0METRIEQ S 5,338,000
HAXHFMECHAAR ADE> 2,970,000 2,970,000
QOIDSD TR, BASL 580,000
=f=hn ZREEY 9 1,340,000
AL o ot )} TRIE el 474%140,0002 560,000
Sotnt -mplE, mMA £l 920,000
22 DREHEY, BAEY, 23 830,000
SHEPN DRHEY, BAEY 740,000
IESNL TDRHEY, BASEY 780,000
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<Xl&>

Mg - A=

FIHEE Hl&tA

Jo

4]

Jo

2012
=33
Ofl A+ 24 (A)

s(Aa)

(A - B)

& & 2 A (29

BREANSIZ2IHEH 100 » 230,000 = 230,000
HINEED ZREHEH, BHAEY
CIEUEEITRIHEY 2

PN T2, MAE : 3JH%108,000
DICIHEMZZ e, A E1H4(1,200,000)
CIRteIAE =2y &4 ¢

eSS <oIMEZEHI> 1,700,000
S22 -EX,23,0AEE 8000,000& 43!
222N <HAZEH)>

SRS E=Eat
Eg=inl; <HAESZHI> 56,400,000
iy <2E MARAHI> 5,930,000
SR —HEAMA

22l <z HB22SEL> 2,680,000

n=4 <JIEt A2FHI>
=CD 20074 *350&
SHIO0IZ 5008%1,300

w2 —ZALY 22Ul AISAsY SAK S
E2 SHI2REZ, HE, JIEt 2A23H|
d22cW -sI=EZ, M2l

230,000
780,000
470,000
1,056,000
1,200,000
1,179,000
1,700,000
3,200,000

250,000
56,540,000
5,930,000
1,500,000
2,680,000
18,500,000

70,000
65,000
16,265,000
25,800,000
1,080,000
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Mg - A=

FIHEE Hl&tA

<X &> (Bt @ &H)
m = =oiam |G g o | oA & B 2 (29 8)
2 & S R (8) (A - B)
2tel ot -2E B2, YR ¢ 8,100,000
ASgL - SIIEEI 28 1JH%96,500& 96,500
4224 Q14 = ETHh| 4,000 4,000 0
J1& 3t <QIETHI> 4,000,000 4,000,000
4225 | 134,000 134,000 0
2te| ot <EADIAAEE> 211,000,000 +123 132,000,000
<HSFO> o8 S/, LS FR 2,000,000
4226 &\ =2 342,000 342,000 0
2tel ot <®JlE> 276,000,000
- dJ1R=s : 15,000,000 122 180,000,000
- dJle=(22) 8,000,000 «128 96,000,000
<=&£&> 66,000,000
- =22 7,000,000 6 42,000,000
- &2 4,000,000 ~6& 24,000,000
4227 S4ldl 126,555 126,555 0
22|t <HMste=s> 66,000,000
-85 2= 1 4,000,000& 128 48,000,000
-NetEEH 0 1,500,000 «123 18,000,000
HUXZHESAMAY 01E2> 49,230,000 49,230,000
22|t <AL E> 1,200,000 1,200,000
me s, <SEYSEH> 7,225,000 7,225,000
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1310 R D XA X 3,028,03 2,858,282 169,749

1311 £XI OHHI 0 0 0
4 J1AH.I1= DH I 280,000 0 280,000
mianl; AEASE JIAHI|I 0] 100,000,000
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AN - A& FIEE 0l &tA

<X &> A dH)
o = =302 g’ﬁ g | SA)E o B 2 (299
2 & S R (8) (A - B)
mEsn; =2 JAIF0HLH 100,000,000
SR AP Z DI AR 0H 50,000,000
JIEF JIHIDI 0N b 30,000,000
1315 &J| HIZ 0He bl 604,431 759,682 A 155,251

CIHHAEEL SUE XIXICH:90I1%110,000& 9,900,000
IHECIXFRIZ HESE & oIl 7,067,500
AZCIRHRIZ =230 104%2,000,000(VATE &) 2,000,000
FaEI=L -HVR-Z5N sony 6CH*5,000,000 30,000,000
-0F2| S2800W kit 2set *600,000 1,200,000
—BoomMicset 2set=800,000 1,600,000

w2t <RSI >

-AE2EH 2

Z2XE @ 501%3,300,000& 16,500,000
dazA3g © 50H+500,000& 2,500,000
B g ATH - 1ZE+1,050,000& 1,050,000
ZUHAO0IZ(SALE):20H+1,200,000 2,400,000
AL E0H0I12(S2AES):1294%450,000& 900,000
SR -2 4 150,000 1004 15,000,000
—ZH &b 95,0002 100K 9,500,000
=JIEb JIRHAH DH B 28,000,000
LEANA SEHE 3,000,000
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<Xl &> (&9 : &)
o = =Sas | g wo | A2 & B 2 (89 R)
o 8 = Oll &4 (A) (B) (A - B)
M) SAF2EI|XTHOH HI>
AE2HA = AD| 20H*300,000 600,000
SR —2H A 300,000*30H4 9,000,000
-9| X+ 300, 000%307H 9,000,000
-2 & 250,000%30 7,500,000
-JIEFE DIHI S OHHI 10,000,000
2220 Ay 490,000
Ry SCHS L M EHE 2%132,000& 264,000
SEIEN AU (A4) 2S22 1ea*250,0002 250,000

SYAU LA 2EII X0 11>

-Stte M| 848,000
iy <UEASE MAEHIHSH>

-ZFEEH 2L (2AE) 2 38,800,000
QIHWUEZIDLIE (LCD) 192! X1 :90CH*250, 000 22,500,000

ZEE (20l MA4Zet)  10H+880, 000 880,000

StE 2 okt 450H 35,000 1,575,000

222 <NEE HAEHIHLH>

FHE, ZULH 2,600,000
HAXAUE-AA DA 10H #1302+ 13,000,000
SR AL EH LEHI0H 21>

-HQIEE CDIIF44 DI 1,000,000
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<n& (B9 : &R)
n’ 2 2012 = = =E(A)
ZOLAZ | O A O (4) o B 2 A (29 )
z 8 8 Ol &k 24 (A) (B) (A - B)

1LHERZA IP 22l & =t &¢ 4,500,000
2.2r5t8 1 44,000,000 44,000,000
3N EE SN & gss 25 50,000,000
4. == M8 WX 404 : 80,000,000 80,000,000
5. = =PCu A :50H 10582 =5,250,000 5,250,000
6. = F2LIE A :10CH*258HR1=2,500, 000 2,500,000
7. =S E e A :30H*820,000=2, 460,000 2,460,000
g. &ML I0IE ¥ HEHMEY = 18,000,000
9. 280 XEAAE &X 4,400,000
2l 1t <At S AFHI0H B>
-S4 aoticl, 2ULH 400 8,370,000
SAAHB=L-Eduis 6.2 20copy*1,500,000 30,000,000

22 T2 0lEXuNSE 2= ¢ 22,000,000
FOIWSI WSECD EHOIE 10M 423,000
S AEL2&Dl Ketshot WSS 20l & A 40user x 1 2,772,000
HMTAHEAIRE AT ESOI0HHI>

1. & MHIA S/W Upgrade : 60,000,000 60,000,000

2.2 E Upgrade : 6,000,000 6,000,000
22|t <JIEH EIIHI 20>
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He - AE FIIEE Ol &tA
<X &> f o HA)
& = 25ign |G o | 543 & & 2 (29 8)
! &t =2 O &k 24 (A) (B) (A - B)

~gd 2 0IEIIH PY 10,000,000
0|4l 0ISEI0IZ 20JH+100,000% 2,000,000
~Z218(1,000,000) 1,000,000
FAICH+OFI - A 102K x 170,0002 1,700,000

1316 Xtat2er7 O 45,000 0 45,000
~2EXY 2 45,000,000

1317 =X 2| 98,600 98,600 0
<sr#=ey>  3,800% 18,0008 68,400,000
<HEMXETLH> 30,200,000

& 2,000,000 2,000,000 0
<ALIAF> W1 S5 ZA 2,000,000,000

Xl OlE X2 2,258,176 510,885 | 1,747,291

T=XN&EESA 30,752,197 | 25,080, 121 5,672,076
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